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LBHENE RRSCRINE :
(A) Hyalocyte
(B) Water
(C) Collagen fiber
(D) Hyaluronic acid
2RI - RSB R
(A) HLOIERAS
(B) MM
(C) Vitreous fiber 2 framwork K3
(D) AMERARS
3.Hyaloid vessel #<PEIRIA% (HiEHR) ZIERMRR
(A) Vascular loop
(B) congenital retinal fold
R | ‘ (C) Mittendrofs dots
h (D) Bergermeisters papilla
AT ICRIRUR S SR R S T TR R
(A) hemorrhage
(B) fibrosis
(C) organization
(D) liquefection
5.8053 14 R T  DHRER TSR BRT
(A)shock absorb

(B) barrier of anterior & posterior eye ball

(C) transparency of light
(D) growth of eye i:all
6.Cholesterolosis bulbi ZEGFRESRIT » BRT
(A) composed of cholesterol
(B) young age group
(C) unilateral eye * commonly
(D) not firm attached to vitreous fibrils
7 TSI R AR RRAE RO AR - 1 RSHRRI 7
(A) SRR R A E BT L R Z BT FT MR AR
(B) ST A T AR A T LU B B D M R L R T IR
(C) FETEIBRRE IR S5 » UG ol T IR - GERERARR
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(D) JRiRAaRE phASHRAE R RRLL Bt A R R B N A SR AR
8. (RS PR RRAE SRRt 5 R AERLRRI T — & ?
(A) L3JBE (superior arcade)
(B) Tl E(inferior arcade)
(C) Bfli(nasal side)
(D) BEfl(temporal side)
S RSOK B HEREABEIRERR » R R TR 7
(A) PH R ER K P
(B) 7kiaihaiE
(©) hevateg:
(D) FIRFEBUNEMERBK IR - BHEEIRA
10. T 5 REIG S KA BE AR LR 2
(A) Timoptol
(B) Trusopt ‘
(€) Tropicamide ’
(D) Travaprost
11. B -adrenergic ‘blocking agents BT GIRRE - SRR RR?
(A) RURR
®) LELSHRIBR SO T
(© EmElEN
(D) LA &R
12 T A RTT IR R BUMIEREE - (T R#ER 2
(A) BUF BRI REOORS R @7 R L5t
(B) ERIRFB R AT A MR B
(C) AR AULIR R R RTTE AR &
(D) HFFET [ R RHE
13. In regard to laser safety and hazard to human body, indicate the incorrect answer
(A) Electric shock
(B) Skin injury
(C) Air pollution
(D) Eye injury
14. Characteristics of laser beam are as followings except:
(A) Monochromatic of same wavelength

(B) Different laser has different wavelength, some are visible to eye
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(C) Beams may divergent, or directional
(D) Beams permit effective focusing.
15. Tissue effect of ophthalmic laser are as followings except:
(A) Photoablation with incision effect
(B) Phtocoagulation with thermal effect
(C) Photoevaporation by oxidative effect
(D) Photochemicat through photosensitizing agent
16. Laser iridotomy treatment in angle closure glaucoma is
(A) By relieve of pupillary block mechanism
(B) By cutting effect of trabecular meshwork
(C) By increase iris aqueous absorption
(D) By cutting effect to separate iris synechia
17. The main laser application in ophthalmology is as followings except
(A) laser iridectomy of angle-closure glaucoma
(B) retina photocoagulaiion for various retinopathy
(C) laser cataract extraction for aged
(D) diagnostic application such as optic disc analyzer
18. Indicate the incorrect statement of the followings
(A) Excimer laser for cornca refractory surgery
(B) ND:YAG laser for iridectomy in glaucoma
(C) CO, laser for diabetic retinopathy
(D) Argon laser for iridectomy in glaucoma
19, F5{rI BRI E 53 3 collagen
[ (A) fibroblast
: (B) Myofibroblast
(C) Lymphocyte
(D) WBC 7
20.Sear formation 2 FZELATIHTERE

(A) dense » random collagen deposition

(B) dense * linear collagen deposition
(C) loose » random collagen deposition
(P) loose » linear collagen deposition

LR T RN SN B - (TERERE
(A) Nerve
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(B) Vessel
(C) Hair follicle
(D) Dermis
22. FHIAZTI{ERS contact lens 2B
(A)PLGA
(B) PLA
(C) PMMA
(D) PGA
23.Myofibroblast A E R EREL
(A) aSMA stain
(B) Masson-Trichrom stain
(C) H& E stain
©) BLET ,
24.Scaffold FILUTE HRER
e (A) degradable
- (B) nondegradle -

(o
S
1
i
&
Voo
e
[
IEN

(C) compound material
(D) BALT
25.Myofibroblast ZEABEHHIE
(A) i
(B) 18445
©) BLLER
(D) T—&

26.etiologic factors in involutional entropion include all of the following ,except:

(A) horizontal eyelid laxity

(B) shortening of the anterior lamella

1 (C) weakness of the lower lid retractor

‘ (D) overriding preseptal orbicularis muscle

< i 27.which is not the appearance of Blepharophimosis syndrome:
(A) ptosis

(B) epicanthus inverus

(C) ectropion
(D) telecanthus

28.a 3 m/o boy has tearing since birth, congenital nasolacrimal duct obstruction is
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suspected , which one of management is appropriated:
(A) no treatment
(B) CIS tube intubation
(C) Probing

(D) Massage of lacrimal fossa area

29.which statement is correct:
(A) Thyroid eye disease is the most common cause of unilateral proptosis in children
(B) Cavernous hemangioma is the most common benign orbital tumor in adult
(C) Ewing’s sarcoma is the most common primary malignant orbital tumor in children
(D) Malignant lacrimal giand tumor is the most common epithelial tumor of the
lacrimal gland
30.which type of Rhabdomyosarcoma has best prognosis :
(A) pleomorphic
(B) alveolar
(C) botyroid
(D) embryonal '

31.which is not the clinical picture of blow-out fracture (inferior orbital wall) :
(A) enophthalmos
(B) infraorbital nerve anesthesia
(C) inferior rectus muscle entrapement
(D) proptosis
32.Which statement about ocular and visual development is wrong?

(A) The axial length of newborns is shorter than that of adults

(B) The keratometric power of newborns is greater than that of adults

(C) 75% of infants are myopic

(D) Method for visual acuity during maturation include preferential

looking,visual-evoked potentials, and optokinetic nystagmus

33.The characteristic signs of Keratoconus(KC) is/are

(A) Munson’s sign ’

(B) Ptosis

(C) Fleischer ring

(D) atc

(E) atbtc

34. Which statement about congenital glaucoma is wrong?
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(A) Having nothing related to infantile myopia
(B) The most characteristic sign is “buphthalmos”
(C) Descemet’s breaks in glaucoma are referred to as Haab’s striae
(D) 1/3 patients with Sturge-Weber syndrome have increased intraocular pressure
35, %I, Accommodative esotropia BRI HIRET -
1. B Accommodative convergence Eil
2. FEBLEBL
3. BEERER
4 SREERUTERIRFIRS
(A) 19223
(B) 12224
(C) 2324
(D) 1223324 )
36. 37 Strabismus SEFERRAFRIER - BiSER Amblyopia (FZHLHEFIHY
FEEZFRAT? '

(A) Destruction of eye structure

(B) Retinal atrophy
(C) Optic nerve palsy
(D) Extraocular muscle damage
(E) Cerebral cortical suppression
37. ﬁ%k‘%’r’f?¥~@7‘<§zkﬂ%\%ﬂ@ﬂﬂﬂﬂﬁ% » XGRS R AR - B
/NSRRI - U EORNHERTERS - BRI Hypertropia H951
G BRI RER - SRR Hypertropia & EHABINEIS - B
Eibft AR H 5 Hypertropia KB4 - HH Park’s three steps test ° E LN
A EIBERUBHE extraocular muscle AR
(A) . Right SO
(B) Right IO
(C) LefiSO
(D) LeR1O
. (BE) LeftiR
38. THISARMARME - BT
(A) direct ophthalmoscope

L i

e

i, Ao G Y

i (B) indirect ophthalmoscope
: (C) fluorescein angiogrophy
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(D) tonometer
39. TN direct ophthalmoscope B: indirect ophthalmoscope Ryt
(A) direct ophthalmoscope —RBEBE| filed X
(B) indirect ophthalmoscope 5% peripheral retina
(C) indirect ophthalmoscope AT AR » T direct ophthalmoscope BE
(D) indirect ophthalmoscope Fff B e TAAER
40.hypertension ] Lg% MR RS2 ° BT
(A) hypertensive retinopathy
(B) hypertensive keratopathy
(C) hypertensive choroidopathy
(D) hypertensive optic neuropathy
41. €35 HTEE 90 day glaucoma”fJ 2
(A) CRAO(central retinal artery occlusion)
(B) BRAO(branch artery occlusion
(C) CRVO(central retinal vein occlusion)
(D) BRVO(branch'retinal vein occlusion)
42. T} 5 rhegmatogenous retinal detachment ZiER » BRT
g (A) floaters
! “ (B) photopsia
(C) itching
(D) curtain-like vision
43.rhegmatogenous retinal detachment T ARHARHMUE TSR  IRT
(A) scleral buckle
(B) penetrating keratoplasty

(C) pneumatic retinopexy

(D) vitrectocmy
| 4.5 diabetic retinopathy Z IR » BT
’ / ' (A) vitreious hemorrhage
(B) intraretinal hemorrhage

{C) neovascular glaucoma

(D) choroidal detachment
45. Which extraocular muscle has the insertion nearest to macular area?

E (A) medial rectus muscle
’ (B) superior rectus muscle

(C) superior oblique muscle
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(D) inferior oblique muscle
46. A mother told us her boy’s right eye couldn’t look to the nght she thought her child may
have right gaze palsy. For examination on duction, we covered his left eye and asked the
boy to look at the right side, we discovered that he could move completely to the right
side. This boy must have
(A) left esotropia
(B) left exotropia
(C) left esophoria
(D) left exophoria
47. When we covered a patient’s right eye and observed the left eye, we found that the
left eye shifted outward at the same time, this patient may have
{A) right esotropia
(B) right exotropia
(C) left esotropia
(D) left exotropia
48. Which Kind of strabismus has more possibility to accorhpnny with amblyopia?
(A) alternating strabismus
(B) intermittent strabismus
(C) accommodative strabismus
(D) constant strabismus
49. A high school boy was hit by a baseball and was sent to the emergency room with
raccoon eye. Skull x-ray should that he had left orbital floor fracture and the boy
complained of binocular diplopia. Which direction of left eyeball movement might be
limited for this boy?
(A) nasal side
(B) temporal side
(C) upward
(D) downward

50, Positive forced duction test is useful for diagnosis of

(A) paraiytic strabismus
(B) accommodative strabismus
(C) myogenic strabismus

(D) mechanical strabismus
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